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Converting Between Quadratic Forms

Ex. 1T y=x2+6x+8
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Standard 7O Vertex
(2 methods)
Method 1: completing the
square _

Ex.2 y=x2+6x+8
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Method Z: Substiture a, h, k
into equation.

EX.3 y=x2+6éx+8
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terms

Ex. 1 y=2(x+3)(x—1)
Y 21 g -2)

Y= -b

Intercept TO Vertex
1. convert to standard
2. Follow directions for

standard 1o vertex

Ex.2 y=2(x+3)x-1)
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Standard Intercept Vertex
Standard TO Intercegpt intercept TO Standard Vertex TO Standard
1. Factor (GCF first) 1. Multiply binomials (foil) 1. Square binomials -
2. Distribute/combine like 2. Distribute

3. Combine like terms

Ex. 1 y=2(x+3)2+2
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Vertex TO Intercept

1. Convert o standard
2. Factor standard form
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MCF3MI| — Unitlz: Forms of Quadratic Functions — Worksheet

Date:

Converting Between All Three Forms of Quadratic Functions

Given one of the forms of a quadratic function, convert to the other two forms.
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1. y=x2—6x - 7 b - g Vertex Form: 4
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Factored Form:
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6. y=—4(x+ 1)(2x - 5) Vertex Form: 3 @/X" :‘”'1 )t 24,
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Answers:

Ly=@=3?%-16 y=(@x-7)(+1) 4y=20x+2)7-13 y=2(x+5)(x - 1)

2.y = 3x? — 6x oy =3x(x—2) 5.y=2x2+4x—6 y=20x+3)x-1)

3.y=2(x+1)?-32  y=2x%+4x~30 6 y=—42x—-5)(x+1) y=-8x%2+12x+20
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